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Biertuttowy Skrzyzowanie 14| 13 1 10 1 2 1 11
Marklowice /Radlin/ Wantuty 0
Radlin Cmentarna 24 2[ 16 6 6 13| 5 23| 1
Radlin Dom Kultury 7 7 7 7
Radlin Gtozyny 1 10 2 8 5 5 10
Radlin Gtozyny Domeyki 13 13 11 2 11| 2
Radlin Gtozyny Strzody 0
Radlin Gtozyny Szkota 12 8 4 8 4 12
Radlin Gtozyny Wrzosy 21 8 13 8 (13 21
Radlin Gtozyny ZOR 9 2 7 9 9
Radlin Gtozynska 3 4 4 4 3] 1
Radlin Hallera 26| 21 5 21 4 1 26
Radlin Inko 8 8 315 5 3
Radlin Kino 22 1} 20 1 7 9|6 22
Radlin Kolorza 0
Radlin Ko$ciuszki 34| 20 8 6(20 6 8 28| 6
Radlin Kosciuszki - ul. Mieleckiego 0
Radlin Kowona 18 5 13 17| 1 14 4
Radlin Letnia 0
Radlin Makuszynskiego 37, 16| 21 32 5 29
Radlin Mariacka 7 2 5 7 7
Radlin Mariacka parking 0
Radlin Matejki 1 17 17 6 (11 6|11
Radlin Matejki 2 6 6 6 6
Radlin Mickiewicza 9 1 8 5 4 9
Radlin Mieleckiego 0
Radlin Modrzewiowa 1 0
Radlin Modrzewiowa 2 0
Radlin Natkowskiej 0
Radlin Narutowicza 1 18 6] 12 6 2 |10 18
Radlin Narutowicza 2 12 12 913 9 3
Radlin Niewiadom Narutowicza 5 5 5
Radlin Obszary 1 3 3 3 3
Radlin Obszary 2 0
Radlin Obszary 4 - Park Les$ny 0
Radlin Obszary Dom Gornika 0
Radlin Orkana 1 1 1 1
Radlin Pompownia 7 7 7 7
Radlin Reden 25| 16 6 3 16 8 1 23
Radlin Rybnicka - Wiadukt 14 14 14 14
Radlin Rymera 1 44| 18| 19 7 18 15 713 1 42| 2
Radlin Rymera 2 7 7 7 7
Radlin Rymera 3 7 7 7 7
Radlin Rymera 4 12 12 12 12
Radlin Sienkiewicza 7 7 7 7
Radlin Sokolska 0
Radlin Sosnowa 0
Radlin Sciegiennego 2 21 3| 18 2 2 17 20| 1
Radlin Wieczorka 0
Radlin Wrzosowa - Kominka 0
Radlin Wypandéw 24 11 13 12112 11 13
Radlin Zapolskiej 9 9 9 6| 3
Radlin Zawadzkiego 18 2| 16 4 14 18
Radlin ZK - Mikotajczyka 0
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